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happy1 happy2

N Valid 20 20
Missing 20 20
Mean 43.00 35.00
Median 43.00 24.00
Mode 45.00 23.00°
Std. Deviation 18.000 21.00
Variance 359.00 471.063
Skewness .000 .000
Std. Error of Skewness .000 .000
Kurtosis .000 -1.000
Std. Error of Kurtosis .000 .000
Range 65.00 67.00
Minimum 15.00 8.00
Maximum 80.00 75.00
Sum 866.00 706.00
Percentiles 25 26.00 18.00
50 43.00 24.00
75 54.00 58.00

happy3
20

20
38.00
30.00
22.00°
19.00
367.00
.000
.000
-1.000
.000
50.00
15.00
65.00
764.00
22.00
30.00
58.00

a. Multiple modes exist. The smallest value is shown
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Frequency

Mean = 43.30
Std. Dev. = 18952
M=20
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Histogram

Mean = 35.30
Std. Dev.=21.704
M=20
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